TGC PRACTICE ASSESSMENT TWO– AS 3.3 Spectroscopy
A set of three spectra are provided to help you identify Compound B. Match the spectra to the appropriate compound chosen from the list below. 

Justify your answer by

· Using the IR spectrum to identify to present (and absent) functional groups

· Use the 13C NMR spectrum to identify the number of carbon environments 
· Identifying significant peaks in the Mass Spectrum that are linked to the structure of the compound and/or the molar mass of the compound.
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COMPOUND B
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